Name Date

Answer Key

Division Facts: Nines

Complete a partner multiplication fact to solve each division fact.
One has been completed for you. \
1 1| 2 2| 3 3
x9 — ofg  x9 — 9l = x9 — 927
9 | 18 | 27
4 4 3 5 5 3 6 6
x9 —) 936 | x9 —) 9lus = x9 —) 9l54
36 3 45 3 54
7 7] 8 8| 9 9
x9 — 963 | x9 — 9[r2 = x9 — 9ls1
63 | /2 1 81

10| | 6| | 9| | 9| | 3] 9| | 4
9/90 3 9|54 3 11199 3 7163 3 9l27 3 1Ml 936
ofl [ ol [ o] [ o [ o [ 1] | o
121108 | 4l36  9l81 | s5l45  3[27  9l9 | 2018
ol ' [ 7l [ sl [ 9ol ' [ o ! [ 2] [12
872 9les  9las  6[54 10[90 = 9l1s8  9[108
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